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Topic:- Child Development & Pedagogy (CDP)

1) Comorbid means: / SIS (FES0ICT) BT Y &:

1. It describes a disorder or condition that may co-occur with another disorder or condition. / I% T& faerR a1 feufa & guie T § S R 3 R o
afa & @y & Fohar &

2. A condition can appear independently and have a detrimental effect on performance. / Zﬁl’é Rufd Tads &7 ¥ Uoe & Tt & 3R yedid W wfdeRs g
ZTel Tl &

3. A cognitive impairment can shorten lifespan. / TIATCHE B SHAedlel B BT T TAhaT &l
4. None of these. / 311 & PIg AL |
Correct Answer :-

« It describes a disorder or condition that may co-occur with another disorder or condition. / I% T&h faerR a1 fufa @& ol T § St foRdY 3 AR &
afa & Ty & Fhar &

2) What is the second leading cause of death in adolescence? / fHIRTaRIT ﬁ’q?g PTG Y Y PRI HT L
1. Road traffic accidents / Hsch ITATATA gﬂ??ﬂ'ﬂ
2. Suicide / 3TcHAET

3. Psychosis / #AAIfaPHia
4. Drug overdose / ZIT 3aXaral

Correct Answer :-
o Suicide / 3TcHTA

3) UDL stands for . / g8t &1 fawga &u H
1. Universal Developed Learning / gfavid Sats affr

2. Universal Dynamic Learning / Jfaa¥el SIS dfeiar
3. Universal Design for Learning / Zﬂ%l?ﬂfl?vl' TS IR e
4. Universal Disadvantages of Learning / Jfaadie fS¥usaicst 3w afefer

Correct Answer :-

« Universal Design for Learning / Jfaiadel BageT Bk affetar

4) The meaning of gestaltis _____ ./ AeTee &1 o . ﬁ'clT %I
1. Excitement / 3cdTe

2. An integrated whole / Ht[U‘f ThIRIOT

3. Perception / GO

4. Insight / 3iTef®

Correct Answer :-

« Insight / 3/TEf®

5) According to Piaget’s theory of cognitive development, complex thoughts form during the . / s & "y e Rigia & YR, wfea
cd |

1. Pre-operational stage/tﬁff—lzl' ShaTcad 3TaeAT



2. Concrete Operational stage/ﬂ?—‘fﬁ ShATcHD 3TaEAT
3. Formal Operations stage / 31U Y Tiehar 3raear

4. Sensory Motor stage/?ﬁ&.F HATST TROT

Correct Answer :-

« Formal Operations stage / 3iaenRes Gfehar sraear

6) According to Kohlberg’s theory, at what level does the child adopt rules? / FYeerast & m}lﬁ ¥ AR, sedr P TR W @AgAt F1 iR §2
1. Universal ethical principle orientation / TTd#ifdes Afde fgid seagiaor

2. Post-conventional level / T-URFIRE T

3. Pre-conventional level / qd-URFURE FAX

4. Conventional level / URFARE FAX

Correct Answer :-

« Conventional level / TRFINE TR

7) According to Urie Bronfenbrenner system is the small immediate environment the child lives in. / tljf siheTaeiy & IR, qoTTel aF
BT 3¥eT qraraver § e aear @ g

1. Macrosystem / FepIfaEea
2. Exosystem / TFafaEea

3. Microsystem / HTSshI fAECH
4. Mesosystem / farafeest

Correct Answer :-

« Microsystem / FATShITIECH

8) What is used to determine eating disorders? / @l & fA&RT # AuiRT F== & AT Far wAer fFar smar 82
1. Weight index / HR FIehich

2. Weight mass index / HR GcIHATA H;ﬂEFI'CF

3. Body mass index / RR GeIATA W

4. Body height index / RR FdT$ :GEaEY

Correct Answer :-

¢ Body mass index / RR g H\ﬂ?ﬂ?ﬁ

9) What term best describes a child’s difficulty in learning a new way to do a task he has already learnt? / 98 UG 3 Ush ¥ &I UH 44T qieT @ #
mmmmmmmmammm@ﬁmwp

1. Proactive interference / Gfspd %‘Fﬁﬁq
2. Retroactive interference / t[tia’-'lTEﬁ XSSt
3. Cue-related interference / Hohd-HafAd eEdalq

4. Semantic interference / 2MeaTY %?-_rfﬁq

Correct Answer :-
« Proactive interference / TfRT {-’-Wﬂ'q

10) What task did Piaget give children to understand their hypothetical-deductive reasoning? / RIS ¥ T=al FI IAF Fredfoih- ANAACHF TH I
AT & fav Far S R

1. Pendulum experiment / ‘3§F|?I’ T YT



2. Bobo doll experiment / arar {[%’?JT & JIT
3. Visual cliff experiment / I Tl AT

4. Shadow experiment / STIT AT

Correct Answer :-

e Pendulum experiment / ﬂf’g?vl?l' Galeic)s
11) What does the theory of learning by Insight mean? / 3dfSe (3HTge) ¥ AAA ¥ MO & Ragyia #1 3 w7 §?

1. Learning which requires higher order mental processes like thinking, reasoning and intelligence. / 31Tt & fow @, a& R gﬁ?ﬁﬂ SR 3T9 A
HATHD TR B TETRAT Tl &

2. Learning by trial and error where problem solving is characterized by repeated, varied attempts which are continued until success. / JITH 3R gﬁ gy 3ifere
AT STl FAEIT B AP UM g7 IR-GR & A1 Teh FAAWAT &, S Therar de S el &

3. Learning that occurs by observing the demonstrations given by an expert and imitating his movements. / {91 it s fadwsr grr fgu aw Hq\Fﬁ F @A
3R 3% FUR Bl AT Aehel el § Bl B

4. A type of learning or problem solving that happens all-of-a-sudden through perceiving the relationships of various parts of a problem and understanding the situation. /
T YR & AT IT FIAEAT A g BTl o fopdy Torear & Raffiea Real & gdut o o 3R 39 ufd & goee & davgs @ 3maEs
B R

Correct Answer :-

o A type of learning or problem solving that happens all-of-a-sudden through perceiving the relationships of various parts of a problem and understanding the situation. /
TP YPR & A I JATTT A & T ot fhd) gorear & faffiea Real & gaat & gersa 3R 30 Rufa & aeee & acgs 9 3aEs
I B

12) Name the disorder that causes lack of attention. / 39 TSR HT AT adT¢ A €ATT A FHY FT FROT TolaT &2
1. Dyslexia / aTehiaeR (Eeeifraar)

2. Dyscalculia / fS€hegtorar

3. Dysgraphia / Eaamear

4. ADD/ADHD / TEIET /TuSiuasy

Correct Answer :-

« ADD/ADHD / USIET /udiuasy

13) Which model, proposed by Albert Bandura, explains human functioning and personality as caused by the interaction of the behavioral, cognitive and
environmental factors / € T GANT FEANAT Fled N Alse qTEN, HAWCHAF 3 TATaONT FRFT & WER BFam § 3R W/ AT &4 3R
wgfadca A s Far 82

1. Self-efficacy / 3TcH-THTIRIRAT

2. Reciprocal determinism / OREURG fAgfarg
3. Trait theory / afthca Rrgid

4. Sublimation / Z%dUld<h

Correct Answer :-

« Reciprocal determinism / UREURSE Fafdare

14) Which of the following promotes the recurrence of a behavior? / RFafaf@a & ¥ w9 @1 & cyaerR "fﬂ'qﬁf Y ForaT a1 §?

1. Reinforcement / gaé?ﬂ

2. Latency / ggar
3. Chunking / Gfhar

4, Punishment / &%

Correct Answer :-



« Reinforcement / g?-l'&‘lﬂc_-f

15) Which of the following theories focuses on processes involved in perceiving and handling information? / rfaf@a & @ sl ar ﬁl{ﬂ'ﬁl’ et H
Hormeret 3R 3AW Fgerd ed Fa A enfae afeat W FRa

1. Information-processing approach / Q{ﬂ'ﬂT-qﬁv_JWT SUTITH
2. Social-contextual approach / AT -UIHTE SUTTH
3. Socio-cognitive approach / TSI HATATCHE SUTTH

4. Psycho-sexual approach / HATGI{dId SUMTH

Correct Answer :-
« Information-processing approach / ¥del -GRRATRIOT SUNTH

16) Which of the following is one of the components of ideal mental health according to Jahoda? / rfaf@a # ¥ w9 e & AR gt AARAE
T F Uew # § P

1. Dependence / f¢Rar

2. Separation from society / T3S & 3TeldT BlAT

3. Freedom / TGl

4. Positive attitude towards oneself/ TTT & Ufd TBRIcHAS TI¥HIOT
Correct Answer :-

« Positive attitude towards oneself / TaIT & Ui TPRIcAS Fi¥ahIoT

17) Which of the following statements best describes the Zone of Proximal Development? / Prfaf@a & @ Fia 1 Faa gAY ReEw § &89 F1 a9
3TBT JUIT FAT §?

1. The difference between what a learner can do without help and what she or he can achieve with guidance. / T ﬁT&ﬂ?-fﬁ%HT HerIdl I R HR W/ﬂ?cﬁ % 3R
AnfexiA & TTY-ATY 98 o1 FIRE IR Gl T 7, P S BT SR

2. Academic, Knowledge based tests gauge the intelligence. / 3TeRTG 3Teh, JT 3TUTRA UA&TON & g@ﬂ?ﬂ FT AT FoIdl &l
3. The child develops the required skills on his/her own. / ITaT 31U & UX AR HIMT AHRAT HAT B
4. Discover everything on own. / Hd $& T & " o

Correct Answer :-

« The difference between what a learner can do without help and what she or he can achieve with guidance. / U fﬁl&ﬂ%fﬁﬁ:ﬂ HerIdl S TP W/Gﬁ % 3R
AnTeRA & TIY-ATY 98 1 SR IR Ghll/ Tl 3, TUP S BT AR

18) Which of the Thorndike’s laws emphasize preparedness? / UT={S8® HT Hia-aT AT it ©w SR &ar @2
1. Law of Exercise / 31018 & faga

2. Law of Effect / GdTa &1 fager

3. Law of Multiple Response / 9% gfafsear & @Aas

4, Law of Readiness / dcUxdl @l et

Correct Answer :-

« Law of Readiness / dcURdl & faga

19) In scientific investigative learning method, ./ 3% W e vqufa .
1. children discover the scientific idea completely. / S @ 391H® AR T TR I U1 Iad

2. children work without guidance. / &8 FTTeIa & AT T HEd B

3. teacher guides the children completely. / fI&Te gt T QI AEIT T T

4, teacher gives inputs when needed. / 186 TR U5l W EQl &ar B



Correct Answer :-
« teacher gives inputs when needed. / {1876 ST T8 WX EQl &t &I

20) A child is watched carefully by his teachers because his friends are known to cause trouble, even though the child has never done anything wrong. Which of
the following is descriptive of this? / T Fod FI 38F [N&TH GANT EAT & W@ AT § FAF 3qF GFal P IR2AT=AT FT FROT FAT AT §, 7 &
=2 & Foft Fo Taa A R e eafaf@a & & Fla @1 swwr avfars @2

1. Algorithm / TealRYA

2. Transductive reasoning / GRITHAT GED

3. Representativeness heuristic / 313TdeT %‘gﬁﬁ-ﬂ? (mmﬁzﬁr)
4. Anchoring heuristic / GHeadel tgRTECh (FareHTaehr)

Correct Answer :-

« Representativeness heuristic / 373aTdet %‘gﬁm (Fd'laﬂ-‘lﬁ'cﬁ')
21) Who are backward children? / &3/ aRa =@ sla§?

1. Slow learners / 3¢ 3T

2. Delinquent learners / farer&ToT 31fAeTH®RAT

3. Handicapped learners / f&eamar 3ifaTARAT

4. Exceptional learners / 3TATIROT 31fQaTaTehcl

Correct Answer :-

« Slow learners / #g 31fQaTaTahal

22) The last stage of creative thinking is : / TaalcH® RdsT &1 3fae =vor §:
1. Incubation / SCHTIA

2. Verification / Hdqed

3. Preparation / oY

4. Evaluation / Fgdichel

Correct Answer :-

e Verification / HcdTdel

23) The Dalton Plan was created by: / STeesT Aleiell G@RT T1E a1 ot
1. John Dewey / STl &

2. Francis Galton / Wifa@ fteead

3. Francis Dalton / T8 sTeed

4, Helen Parkhurst / %ﬂ?f CI'I'&%T&'

Correct Answer :-

« Helen Parkhurst / goleT UThgEEc

24) A student should be allowed to learn in the mother tongue as it makes easy./ U&H B & HTTHATIT # dga 3@11% § sl TRT FfF TE
Y A T B

1. Comprehension / &g
2. Perception / HdeeT
3. Creation / T2 AT Gi¥

4. Reproduction / Haldlel



Correct Answer :-
« Comprehension / &Y

25) More Knowledgeable Others and Zone of Proximal Development are the main principles of theories on cognitive development. / st

SeEt 3R FHIET REW F 89 gaEeAs Re W Riguiat & ger Ry
1. Kolb’s / @hled

2. Piaget’s / Tomat

3. Dewey’s / 3d

4. Vygotsky’s / TATEINcEd

Correct Answer :-

« Vygotsky’s / aTgIlicEent

26) A large number of schools do not have a provision for _______teacher in the school. / Jrfereier E\Wvﬁﬁ'_ fﬂﬁﬂmﬂﬁ%l
1. Extra / 31fAR

2. Special / fafre

3. Co- class /HE-T‘N&'"{T

4. Assistant / OgTdh

Correct Answer :-

« Special / Taf2rg

27) are the basic needs according to Malow’s Hierarchy of needs. / Ul & W UqrgshH P ATaRUFAT $ SR
gFrardt o €1

1. Safety and Esteem / gX&T 3R 1A

2. Physiological and self-actualization / eIRes 3R 3mcq-arg

3. Belongingness and love needs / faama 3R @R fr 3mmavgesar

4. Physiological and safety needs / TRIR@ SR TRET B TG

Correct Answer :-

« Physiological and safety needs / TR 3R GRET P SATTLTHT

28) Which of the following can a teacher not exercise to overcome misconceptions? / T&% &/ Terd saeRomsi H1 R F1 & R 378 A
et agR I8 HX AHar?

1. Immediate feedback assessment approach / dcehTel Ufafepar W Eca
2. Self-directed learning / 3Tcd A 3 Frg@a
3. Quiz style assessment both before and after a unit/ Tch W’% T TE 3T g F usiely et @ W

4. Flipped classroom approach / Toeld &atr Tf¥epior

Correct Answer :-
« Self-directed learning / 3TTca A& F drgam

29) Which of the following theories is also known as modelling learning theory? / frafafaa A 3 fea ﬁ@iﬁﬁm(ﬂm) 3ifermy Rygia
F g ® W ST o 82

1. Developmental theory / fa®wMITE® (Saauded) ™ Rigid
2. Social learning theory / €TH i 31T g
3. Transformative learning theory/mmm



4. Insight learning theory / 3 (saaTse) 31T g

Correct Answer :-

« Social learning theory / TTaTToIh 37T Rgia

30) Thinking most importantly involves: / <1 ¥ Wa Agcayul 4R | o Qfifea glar @ 2
1. Aptitude / 31fRTTar
2. Memory / ¥fd

3. Reasoning / GED

4. Attitude / 3TfRRY

Correct Answer :-

« Reasoning / d&

Topic:- General Hindi (L1GH)

1) o5 W T Fad Th THET T S &1 S THET B AT BT A T SraT @ S Hgeayul gt 3R R uR uran 91w | Ry R § o 9g1 & 3/awR gU §v
B ¥ 39 §H T ed 8| TP IR 919 g0 forelt AR R forera ured 3% A9 § df 59 Usd A Pl S ol 9gd § 1 diddd Bt gu gHifadl i §: sy R
FE P A, AR F g, dbad B 7S ToTgg BIAT1 STT AT S BT AT TR FHIfad BT [THAT BT Usel 21 3l fay &1 v urg ffwn dwaa
AT 1 AT & T B § b B gHT [agpa a1 21 39 30 & IR AT @ % 5 @ O 1@ dieditie TReR q8Td B$ b Bl SMYR 39K fHar
ST | T e § G S e did GRPR S SIS 1, T ST GRPR & (U0 | ¥ @1 SN SR T W Y $T RIMGAT S gR1T | AU §HDPT 3107
IeTER01 &1 Apal 81 3l BTa 9% AuTe W IeTas M Hal UT| 3G AT W AIdaa & | Afh=T ANl BT 37l 3R B A & a¥ih! &) gga- § 99l o1 oid &1 gaferd
Aurer 3nft dilhea ¥ R MUR AR B B FHte | S @12

HIGIeR RITUd dida # AR 31 g gt ¥ 1 30T daad § % fredt 391 & &= 8 & Aieaite WeR F gayd Risidl 1 a6 $3A71 3R 39S YHE S 90 &
TR @l SR I P} FX URAT 9% UgAHT | R Tz el B siftres ufd wer $31, WY F e §18 31 Huarg & yuTa § a1, affarsit ok srensierst o
TRIYRT | SieT, 3fe faaR 3t eIt & Iee 1 391 98 Aaad i f % 70 I o0 had TR 8f ol diedaite uiear 9 W il o1 9% 1 4R 3R sfifver o
Sfar A 1ot 32 T BT A R TR &1 HURA F 3nft ft wure # 7% ¥R ReS o § e werifas wifw 3@ fra o 31 enet o gaiik & o T uRa #t
TRIYRT A T TRE IS 71 U 1 A 9 Avdd & IR &t gt F 33101 § | Adhda HY Tex1E 96 Toigd HI P g BT A1 3R Ahes B HIA1 ISl g
U] AT ¢ Aipad B uferarait 3 TR Y Aorgd 31

IUGe TN B UgHR Y U T U BT Sk a1syl
Y : Apdiie A a7 & & $1 18 ?
1. el ShdT BT S P & TEAT dh Tgar

2. 304w |l
3. el RIS THR F HAHd Rgidl P oY Hr
4.mwa€qmaﬁm$ﬁaﬁwq§ﬂm

Correct Answer :-

2) T Wt TNl Pae T TR TE1 S 31 ST AHET Y AR BT AT o Siran & S wewayut g SR Fr U ura o Wb | o W & o 9 & 3@wR gU §¢
B9 & 39 59 T Fed §1 TP aR 99 59 frel et wR e v o) A9 ¥ o o ved @ ot ot o wed §1 diwds 31 e gt Pl € sy dur
FHE P T, AR F g, dbda &Y 7S ToTgd BAT| SIET TR S BT AT TR FHIfad BT [THAT HI1 Usel 21 3l fay &1 v urg ey dwaa
ST 1 g1 & T BT § aehe Bt gHTd [Ragpa a1 21 39 31 & IR g @ % 5 @ O U@ dieditie SReR 98T B dibe Bl SMYR 39K fHar
TR | T PR § T SAIBaAiD WRPR B SWIST T, T Y PR & R0 | gR 3G G AR T TR 7Y BT RAGAT H3-11 FfY 1 urer g7 31t
IeTER0I &1 Aphal 21 3nfl BTa 9% AuTe W ISTa= N1 Hal UT| 3G AT W Apheia & | Afh=T ANl BT 3Tl 3R BT A & qdib] &Y gga- § 99l o1 o1 &1 gaferd
AuTer 3nft A & R SMYR TR B B AT A BT 1

IR R iead § AR 31 g gt ¥ 1 30T gaad § % et 391 & & 8 & Aedite WeR $ gayd Risidl S a0 $3A71 R IS YU S 90 &
T A SR A B TR AT Ih U | RATIY TRt faral #1 siftre ufd wer &A1, Y F g% SH18 31 Wudle & guTa § 141, afkersi iR sreawerst ot
TRIYRT | SireT, 3fe faaR Ft et & Ieev § 1 391 g8 Haas i @ % 70 A o0 bad TR 8f ol diedaite uiear S W il o1 9% | YR 3R sffveT o
Sfrerar A= TSl ZH T BT AT R 7@ &1 HRA & 3t oft TSl # 7€ ¥R oS o § e worifae i 7€ fra ord 31 ot f @i & 9o T9 URa $t
TOIYRT ¥ T 0T T 181 U &1 3 99 Aivea & fIar &t gkt & 31601 § | Aibas Bl TexTE 9% Hogd B BT AT BT AT §R Apad B BT UgaT 2
BT AT ¢ Aipad B ufeharait 3R TR B Aoigd 1

UG T B TGP F IS T YA BT I« AR
TY : SUTGTaR AT Sidaa § feae! gl gt 82
L. FaTed &
2. TIEar &r



3. §OR &
4, JOR &T

Correct Answer :-

. foEar &

3) B3 W A Pae U THwT TE Bt B 1 S T D1 YA BT A T wiraT @ Wi Hewyul 81 3R O R uran S 9% | o geen # 3l 9 $ 3rawR g §Y
B ¥ 39 T AN FEd 81 TP IR 919 g0 forelt gl R farera ur a7 A9 € o 59 usd A #El o ol wed §1 diwdd ot g gHifaal i §: snyR R
P P T, AR P A, Abad B 9IS Torga BIAT1 ST AT S BT AT TR FHIfad BT ATHAT 1 gsem 21 3l fay o1 v urg ey dwaa
AT 1 g1 & T BT A Siche B g [apa A1 21 39 31 & IR ATl @ % fpe @ve | U@ diedite SReR J8Td B% Aibed BT SMYR 39K e

W | T B § T S die GRPR S IS 1, V11 Bt G¥PR & (U0 | g7 @1 G SR T T Y $T RIMAT S gRIT | 0T §HBT 3107
IeTER0 & Tl 81 3l BTa 9% AuTe | IroTas gl Hal UT| 3G AUTd H Aped & | Afh=T Al BT 3Tl 3R BT FI1 & aiih! &Y gga- § 9ul o1 oid &1 gaferd
Aurer 3t Sepea & Rl STUR AR FA A TN A S @I

TGTAR RITUT didad & fawdR @t g SidT 81 ST A0 g fob [Pt 30 & 5% &F A diedifae WReR & qayd Risidl S ar] $1 3R IHS THIE S 9T &
B SR AR B TR WRIT 9 A | R TR el &1 it ufdd e &A1, WY F 5 IP1E 31 Tudle & YU § 141, Afitensi iR seqdsrs! &t
TEIYRT | SieT, 3fe fIaR #t gt & Ieev 1 591 98 Aaaq i @ 5 70 I o0 had TR 8f ol diedaite uiear 9 W i o1 9% | 4R 3R sfifver o
Sf¥ar A7 1ol 2 T BT AT R TR &1 URA F 3nft oft wure # 7% ¥R oS o § e werifas wifw 3@ fra o 31 oner of gaik & o T uRa #t
TRIYRT A T @RE IS 11 U 1 A 9 Awdd & IR &Y g & 3Tev01 & | Adhda B TeR1E 9b TSigd I P I BT AT 8 Ahes B HIAT ISl g
ST AT ¢ Aipad B ufharsit 3R TR oY Aorgd S

I TR B UgHR 1 IR Y 4R HT I« 413l
Uy : Aipaa B G- HIfaal o 82

1. bl FIEAR B Y

2. B IMUR dIR B Hr

3. el Abdd B T3 FAslqd Bt H

4. 394® |l

Correct Answer :-

4) F$ N gN Faa v U L1 el 1 S [ 1 g B AT far wran 8 <Y geyul g o R uR uran 5 9 | oy auwr ® o g F SavR g §v
B & 39 89 T Hd &1 TP IR 9id g9 fohail T R faerd ured o7 A € ol 39 Ugd A FEl S ol 9gd €1 diddd Bt g gHifadl FEiiied 8 S1YR 4R
F B A, FaaR 3t g, S Bt IS AT HRAT| SHTRT AT IR BT ST TR Al BT AT B vsen 21 3f fay o1 v drurg R deda @
ST 1 g1 & T BT § aebe Bt gHTd [agpa a1 21 39 31 & IR g @ % 5 @ O 1o dieditie SReR 98T B dibe BT YR 39K fHar
TR | T HA § IR SAIBaiND TRHR B SWISAT §1T, VT B TRBR & Frir0r § g7 T@HT §R 3R Yo T P PV I B g1 | AT §HPT 3431
IeTER0I &1 Aphal 21 3nfl BTe 9% AuTe W IeTa= N HRal UT| 3G AT W Apheia & | Afh=T ANl BT 3Tl 3R BT A & q¥ib] &) gga- § 99l o1 o1 &1 gaferd
Aura it Aad F R MYR TR HA P I | S[H @I 81

HEIAR RIUd idad § AR 31 g gt ¥ 1 30T gaad § % et 391 ¥ & 8 & Aedite WReR F gayd Risidl S a0 $3A71 R 39S YU S 90 &
T SR A B TR AT I U | RATIG TRt sl #1 siftre ufd wer &A1, Y F g% 3H18 31 Tudle & guTa F 11, afkersit iR seaerst ot
TRIYRT | SieT, 3fe faaR $t et & Iee0 § 1 39T 98 Haas i @ % 70 A o0 bad TR 8f ol diedite uiear S Wl o1 9% |1 YR 3R sffveT o
Sfrerar A= 3ol I T BT AT R 7@ &1 HRA & 3t ft e # 7€ AR oS o § R worifae i 78 fra org 31 ot o @ik & 9o T9 URa $t
TRIYRT | G @RE IS 781 U €1 T 9 A & IR 3 godt & Ie1ev0l & | A &Y TeTS a% TSigd HI P gHTd! BT AT §R ADhda B b1 Ugdl 2
BT AT & Aipad B ufharait 3R TR &Y Aol 1

UG T B UGHR F IS T YA BT I« AR

wy : URa ¥ 3t ot $o fUes o &) Far 48 fre urar/ag @ 2
1. oA o

2.398 A HIS e

3. 3nfde Faraa

4. FIATTAD FFAT

Correct Answer :-

« ol afh

5) &S oft TR Saa v Tun T8 i 81 I Tuwn #Y gk 1 A G wrar @ S geayuf 8 ok R uR urar i 9% | R g § ot 9g9 & 3/awR g §u
B4 & 39 59 i B8d §1 T aR 99 59 frelt gkt wR faora v o) A9 ¥ o 5 ved @ ot oiftie o wea §1 dwds 3t e gt Pafiiea € enur dar
P B AN, RREAR B g, e 31 oS Ao HATI ST ST I P ST ST FHIG! BT HHAT BIAT U 1 o Ry 1 g g R dpel A

ST | T B § A A BAAE WRBR B IS R, Y1 FY WRHR & G701 | ¥ I@1 G SR T T AP $T R B gft | JuTed §H1 3rest
IETER0T B Tl 21 it gTet ap AuTer H T gl BT ATl mﬁmﬁm%lﬁﬁmmaﬁmaﬁ?mmﬁ%?maﬁmﬁﬁaﬁmmﬁ%lwﬁﬁ
Aurer 3nft A & R SMTYR TR HIA B IR A BT I



TETAR TG didad & fawdR @t g gt 81 39T Aaad § o {5t 39 & ov &7 A diedifie WReR & gayd Risidl &t ar] S 3R IHS THIE S 99T &
B SR AR B T WRIT 9 g | R TR el #1 sifte ufdd e w1, WY F 8 3PS S Tudle & YU § a1, Afiersi iR seuwers! ot
TOIURT | SIS, 31T fIRaR 3 gt & 3260 & | 30T U8 Haad Mt § 5 70 @ 70 bad T 8 it dieaite ufrar 9 R R o 9% | yRa 3R siifver S
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T USTPT &1 BT &I

I Ui B UgH 1R U 9 AT YR FT I« 941zl
WR: qu1 & T S ©xd g Wi & off wR we @2
1. g4t @

2. fpamer @

3. AU Y

4. gopfa afdt @

Correct Answer :-

. frerer @

17) &a1 &I 9k aui &1 1Y, 1) &1 AR wgn
Tl TR FT SR gR RR & o e usn
IS T BT Wl P BT TP TG ISAT

T B avE foerent o1 famai # weR So1

3 auf & oA T fora® uror & W

S AT BT ARG ABAT § TG T FORN

S Y@ T, YR FRPY o Y e 8

it uTit a9 wR o g o ot &

3R 3TYIE F Ug fGa® & UYH 39 &01 &

I8! TR ARIF 3T B, Priere & A

T ISP &1 BT &I

IuYe YR B UgH Y IR 9H AT URA HT I« qa1gtl
WH: 3TUTE HEI &7 Wy {59 g | ghar 82
1. R



2. 2R
3. T
4, gy

Correct Answer :-

18) &a1 P Wk auf &t F), TS| &1 AR AT
FE TR BT W gX RR & 1 fse ugemn
IASH T BT Vel B B TH TR IS
T B ave faerelt @1 faxmel & wew So 1

3 gl & oM T s wior @ W

S ITd® F} AR dThT § IGd ¥ FORR

WY 4T @D, YR FRBT o Bl e @
it urit aad oR oM I o Rt @

SRR 3TITG F Uea fGaw & woH 59 & &

L gAR A T B, F1iRIG S A §

T D! 4T BT T

Iued TN & TgHR 1Y U9 9 aTel U HT IR qarsa|
7 IR femmel A faoreft 3 awad 32
1. 3c01d & W&l

2. eI P 1@l

3. 95T &1 PT T el

4.3 I TR B

Correct Answer :-

o S et el Bl

19) a1 P19 a9l &1 FS, Fel &1 AR usn

HEl TRe BT SR R RR & g fh wgn

IuSH A BT WA Bt DI TH AT ST

AT B ae faerel o1 faxmal & weR SoA1

3 9uf & oA T s T ¥ W

W IS P ARE AIHT § TEd I PR

S Y@ TEH, TReA TR o Y e &

St Ut g TR 3y E o e &

SR 9T F UEd faaw & yun 59 &or &

TG TR NP 7T B, PrieG b A
IS &1 B AT

I Ui B UgH Y IR 9H AT URA HT I« qa1ztl
W: 3R HHE W TN A g &l Ha S1GT $39 B e 82
1. frama

2. TR

3. AAY

4.98

Correct Answer :-



20) B91 $T Wk auf & FS}, T *1 AR v
FE TR BT TR g2 RR & a1 fse v
IASH T BT Vel B B TH TR IS

T B ave faerelt @1 faxmel & weR So 1

¥ quf & oY T R yior A Tk

S ITd® F} AR dTHT § IGd T FORR

WY 4@ @D, YR FRBT o7 Bl errar @

i ureit aad oR oM I o Rrafierar @

SRR 3HTUTG F Uea fGaw & wom 39 &0 &

T8 g A T B, FiiRIG & HA §

T D! 4T BT 11

ITed TN & TgHR 1Y U 9H aTel U HT IR qarsg|
T STed & TReH Bt Y 5 e et 82
1. 3T Tl STl AT

2. STHAPY A BN

3.9 dior ui

4.5 X & FW & IeT W W
Correct Answer :-

o 3 R & IW & a5 = w

21) B4 ST WK a9l Bt S}, TS b1 AR v
Tl TR FT TR gR RR & o e usn
IS Tt BT @elt B BT TP TG o

G B aE foerent o1 famai § weR So1

3 guf & oA T s wioT ¥ W

WY ATaF P TR ATHAT § TG T FORI

S T IEH, GRA TR o ) e @

it uTit a9 W o g & forafierar &

SR 9T F UEd faaw & yuw 5 &or o

B! TR AP 1T 3, PG & 7AH
ISP &1 BT &I

I Ui B UgH 1Y IR 9H AT URA $T I« qa1ztl
TR ‘IR TS & U faas & W 39 &0 §' o1 Qfeiyes Tey frer 82
1. ATgA T aiker &

2. AAGA & g |

3. %ad I o
4. FiforerE #1 Pfad AuggAn &

Correct Answer :-

22) B91 P WR auf & SIS}, T} a1 AR v
FE TReH PT AT ¥ RR F U7 b= v
IS 7t BT Well B BT aF AT IS



el B ave foereht &1 famant & weR go1

¥ quf & oY ez ! yior A @Rk

S IT F} ARG AThT § dIGd T FORR

Y 1T IEHR, WRA IRBT o B} Fyerranr B

S Uit 9o W) 3T T o foefirerar @

IR TG F Ued 49 F yuH 59 &or &

T8 TR AU 3eT B, FifererE F AT &
AT & B AT

Irfe Ui B UgH A IR 9 a1 U $1 I« Saistl
TR Y W A B BT arad 82

1. 5ot fohg oRTEAR awt

2. el ST

3. 3TS-3IWIS

4, a9 & zo= arelr snfEar

Correct Answer :-

. Todr fihg SOTaR aut

23) Fa1 BT AR qui 3 <Y, TSt 31 AR vg1

FE TR BT TR R RR F e fve v

IuSH T BT WA Bt DI TB AT SoT

@l Bt a¥E faerelt 31 fezmai # wev o

Y auf & oA T fora® uior § W

WY 9T B ARE AIHT § TEd I FORY

S YT TEH, YR TRPY o Y e 8

St ureft ga TR 3y e o e &

3R VTG & Ugd faw & Uy 59 o1 d

T TAR P 3T B, PiferETE F A A
P! &H B 1N

I Ui B UgH R IR 9 AT URA HT I« qa1ztl
"gH: H1a A far & o= 99w ueh I 7 91 22
1. Fifs fRrara 3R ade afass i R

2. T T @ au § TEY ¥

3. Fiifs R wafoel @ €

4, iR foRETe 3R AT gA agel 1 R 3T wa
Correct Answer :-

- HifS fFae R Tae g aedt i AR SEd ®d &
24) &A1 1 ¥R 391 3 7, Frel BT R v

Tl TR FT SThR gR RR & o b usn

IASH T FT Vel B BRI T TER IS

AT B AXE faeient P1 fGmmai & vex I

¥ quf & oI Tz ! wior A @R

S AMAF P ARG ATBAT § TG T FORN

S Y@ TEH, YR R o Y e @

it uTeit aa wR o S o frafierar &



3R 3TYIE F Ug fGa¥ & YUYW 39 &0 &

5} TR AP 1T 3, FIIG F HAH

T ISP &1 BT ST

IUYe YR B UgH 1Y IR 9H a1 WA HT I« Ia1gtl
w=: e Y@ veee ff @ | w1 e 82

1. HoTR AT ¥

2. e amar ¥

3. Sl Aeeld A B

4. ST BT B

Correct Answer :-

o S-as Aeeld &L B

25) B91 &1 Wk auf & F1S}, Frs) &1 AR v
FE TR BT W1 gX RR & 1 fse v
IASH T BT Vel B B TH TER IS
el B ave faerelt @1 faxmel & wew So 1

¥ quf & oY Txa R yior A @Rk

S ITd® F} ARG dTHT § SIGd ¥ FORR

S AT TEHR, URelt TR T Y I ¥
it ureit aed wR o E o Rt @

IR TTE & TEd feas & v 3 gor A

T gAR AP 3T B, PifGT F A A

T YD 4T BT T

STe TN & TeHR 1Y U 9 aTel IR HT I« qarga|
T 9 HfaT § B3 A gaw fFA v d?
1. JeRTH HI

2. foRaTe Y

3. #RA &

4. #poT B

Correct Answer :-

. frara @

26) B91P1 Wk a9t B 31}, 18| BT AR g8
Tl TR FT TR gR RR & o f usn
IuSH A BT WA B DI TH AT SoT
@l Pt a¥E faerelt #1 fezmai # wev o

3 9uf & oA T s wioT ¥ W

il ITd® $1 IR dIhT § SIed ¥ FORR

St 3y TEY, Rl TR o Y e §
St ureft ga TR 3y AE o frerferar &

3R VTG & Ugd foaw & uyH 59 o d

TG TR IRIP 37T B, Priere b AT
IS &1 B TN

I Ui B UgH R U 9H AT WA HT I« qa1zTl
WRH: 0 Biaal & AHYA & I g1 W st geit &1 9o fosar wan 22



1. T gadt &
2.Th g Hr
3.7 @ &r
4.t frar Hr

Correct Answer :-

« T& fpaETT &7

27) B91P1 Wk a9t & 31}, 1| o1 AR g8

Tl TR FT TR gR RR & o e usn

IuSH T BT WA Bt DI TH AT SoT

T B ae faerell o1 fammali § weR SoA1

3 guf & oA T s Wi § W

W IS B ARE AIHT § TEd T PRI

S @ IEH, A TR o Y e &

St Ut ga TR 3y AE i freferar &

SR 9T F UEd faaw & yuw 59 &or o

TG TR IRIP 37T B, PTG B A

T USTD! & BT &M

I Ui B UgH 1Y U 9H a1 URA HT I« qa1ztl
WRH: 9 Biaar & vgad foafiemr wsg o1 Fa e 82
1. 9 @

2. & B

3. /& Qe

4. Yh= Bl

Correct Answer :-

o R P

28) §41 P Wk aut & 31T, Srs| &1 AR g

Pl TR FT SThR gR RR & o fb usn

Iu T BT WA B DI TF AR ST

T B1 e faeient P1 fG=maei & vex I

q auf & oA T foras uror & wWR

S AMAF P ARG AP § TG T HORN

S Y@ TEH, YR FRPY o Y e @

it urlt aa wR o A & frafierar @

SR 3TYIE F UG fGa¥ & UYH 39 &1 o

T8 gAR fUP 3T B, Pifererd B A A

T TS &1 BT GATI

Iuad TR B UgH 1Y U 9H a1 U $T I« gargtl
w=A: afe 3muTe ¥ Ued oA wiferere @ it fraT arg oMl A w Hee AR
1. FIfoIGrE @ U @]

2. PG & IX H I1d BT Aoy

3. PG § &TAT AT el AR

4. 56 & AT AT



Correct Answer :-

- FIfcEE 8 &TA AT ol Tl

29) B91 FT Wk quf & FS}, TS| *1 AR AT

FE TR BT AR g2 RR & a1 fse v

IASH T BT Vel B B TH TER IS

el B ave faerelt @1 faxmel & wew So 1

¥ quf & oY ez R yior A @i

S ITd® F} AR dThT § IGd ¥ FORR

WY 4T @D, YR FRBT o7 Bl e @

it ureit aad oR oM I o Rt @

SRR 3G F Uea fiaw & wom 39 &7 &

T8 g A T B, FiiRie & HA §

T D! 4T BT 11

STde TN & TgHR 1Y U9 9H aTel U $T I« qarsa|
UR: SBId g3 Afedl 3 T Bel a@ Ugd Al 82
1. Wers Afedt de

2. R a&

3. Ot &1 oIt a&

4. THE b

Correct Answer :-

o Ot & oI b

30) a1 &1 ¥R a9 91 1Y, el &1 AR v

Tl TR FT AR gR RR & o fe usn

IuSH T BT WA B DI TH AT SoT

AT B ae foerelt o1 fammal § weR So1

3 guf & oA T s wioT ¥ W

W IS B ARE AIHT § TGd I PR

S Y@ TEH, tReA TR o P e &

St Ut g U= 3y E o frefemar &

SR IT9TE F UEd faaw & yun 59 &or &

TG TR NP 7T B, Priere b A H
LIS & BT M

I Ui B UgH R IR 9H AT URA HT I« qa1ztl
URH: A B o9 9RY 6 ga1 & 91y a9t gidl @ o Fa1 R o @2
1. Erer

2. TglIs

3.3

4. 3TS-FWIS

Correct Answer :-

Topic:- General Sanskrit(L2GS)



Y faezmg sterare &: ?
_ SEATdedT
_ erEAfacan
JreTiaear
ATcATICT
Correct Answer -

) malcﬂiéa\al

3.

4,

URTIC IfScal TRATT AgHN AT -

diich gaored o IS Fgrehr: | fohser Al geel-aideh:’ | 37d: W,
HoAH: 3TcHeT: dT Goeldl 3T T 3 | THIRPTSCAT ool T foereT:
ISl | IIETSeAT gofel Sfel goedl A A aRgafed | s q &
AT | Holl-hIRIATE-TCAT goel 5ol ollehl: UGT-TSCAT Yedfedd | gl
AT UGeEd AT 3hA0T #afd | fAder ¢of gaeey Sered e
3MhACT Fdfed | Td T Siidel TRAA: I goeld o HisfT e7did Teel
dich | IEAA S AAITEAT o3I IRTATeAd, TT Slel: IR
Orelel fhad, I Slell: gdell: dR: T #dfed del 22 98 3 o
AT AT | IMEANCHPTSCAT ool HoST  PIH-IE-olIeT-FIg-3TEhR-
fapRr: sheAed| Ta: AP SPedey FATSIET A AR T

AfeFd: & | ITcHAAH 31T & Tq aoTd I: Uael: ¥ | 39d fo-
AGHATCAT Felglaled ol g:” 3Id: IRNGT |, #Adl, smeafordr o eafed
gaad|

“Bich o o st Tereh:” 3Tl 3Telel arerdet s Jed-
. aar facaraer:

, &al Haol T&Th:
| Gat g e



, oal gae gsaeh:

Correct Answer :-
5 :

9l gfdcar srenfafésesa ueaea ?_J,Gdjcdi A -

Ush Ud gegH! fAeeswaaata I |
RUT HH AT dA-ATG ISl |

HeAlold Addedadl  fAdfead gigadr aRses |
dIdlcAs] ARYAACT ARTAGT WOT Jue ||

A va AEd-

Al U HE
: N2

1

AddAAT:
2. e}

[ERICEUE
3.

4,

Correct Answer :-

. NEGEIERE



TR=ic UfScar UedEd ﬂﬁdgcdi A -

uRadd dOREEe Fad: | qAuecARIRSHAUSH §HUSS §d d¢
HEAA T SPIIRATA IR EAfesTagd], 31fed | Aqsaeiidaaaey
fagaes saEr a7 | 3y aRedafaEey caued: usErsfERd Sias
T | Falacqd dalaed g-s, 3T JRIAT: FohrRilst=T o faremar
YRR, FETd dafse:, aFgd fourar, serEl 8Y: sl I sheeaeafaRia
Sl MRadUNEdeRIYRd  ddd|  ded, dlad, Glecd, g&ca A
ShauRad-edd fafqenfa woifor afea | gug:war: aRgfca=fafiesr |
T wfacafa & wA0L, Idr & fhaed| stfAcae=r AT el gEg:@
AL oad: | Afe Tdar HIsfU guaeperata, o @i dder Hisfiy
GTH | heltd EATSATd delfad eddicd T Hhalfde g:E# Jadid
e fAld T | 3 UAlE Sidped]e:  Hifde-  “hEdcdod
qUATAA G-@HPlecdl a | Aescguil T & dehaiamaer || afy
qd T A AEEIAd, SEddeee: U Tedd ? Geedldd
Wﬁr: EIW sTafa | H‘chﬂﬁ'l?ﬁiﬁ ATCheRUT YGhUT- '%@ &
I8 M | TelleeThR Sad Soeeieid” |

TYET 5T ety HAEATIRUGTAGHE-



5

)
eellehl gfdcar renfAfésery Teaey AgdacR FaIad -

3 BRI dvear st T |
AFIFATIRNLT IEAd ST He: ||

HEQY Teleh oTllchordh gaT:Eel EI#P!—T;Dra#
AR FAGHNFdheicdel dU] Y HIhUTE |
qd159l gRAecad T FHeldehUs T dgcrdlqi'&‘

Muer gRafedr fasad aareEEoT:

IMYTRT JET:TAA 3¢ oTafd-

eeliehl afScar TNATESeTT ey gl I -

Tsh U TegAl [HAUAsTIadd It |
RRUT TH ATT FIdACITE I I

Hellold ARAJedas TSdfegd gfgadr aftsea |
aIdTcHs ARYAATT ARTHAG ROT Yo ||

fAgeIsi STeegART: 99%d: W Ua-



URTde UTocar ey ﬂ&ﬁdgrdi gIad -

olidh GEored o HIsTU Ferrehr: | fohsa qal giel-aTash: | 3d: RN,
HeAH: JTcHeA: dT Gaeldl YUY VT 3R | MARPTSCAT goel Frafeer:
cgeifed | JiEesear gl Sfel Tsearl JcAn: 3 aRegdfed | wur J @
HAT | FHoll-hIAAE-TCAT Goel Sl oflehl: SUGT-TseAT yedfedd | gl
AT Ydoled AT 3T1hAUT Hafd | fAdel gef daered gy e
3MhAYT Pdfod | Ud I Siigel JeIRT: Icl qoiored o Hisf sfafd Fed
oih | ITEAA S AHATTEAT FS5adT URATTd, TT Set: I MHAET
e fhad, I S g9l dR1: I 8idfed del &2l TE 3oy G
Al FATed | ITeAITcHRESCA %éd d—lole PIH-ShIeT-INeT-Ag-3Tgh-
faehnr: 3meheed| Td: fdhN: 3Mhleded HOed A RN o

offeFet: &TI | STcHAAH 31T & TG ofold I: Uael: T | 3o fe-
TTIATCHT Folelded ofsd:|” 3d: AUNHT , ABEL, IMeATcHNT o Afad
Taad|

IHPITATSTAIGTESPRIAPRT: T Hleld ATshodl-
TR

Correct Answer :-

Crc)






TR=ic UfScar UedEd ﬂﬁdgcdi A -

uRadd dOREEe Fad: | qAuecARIRSHAUSH §HUSS §d d¢
HEAA T SPIIRATA IR EAfesTagd], 31fed | Aqsaeiidaaaey
fagaes saEr a7 | 3y aRedafaEey caued: usErsfERd Sias
T | Falcqd Saled gH, 37T JRIAT: TehreilstaT 7 farermar
YRR, FETd dafse:, aFgd fourar, serEl 8Y: sl I sheeaeafaRia
Sl MRadUNEdeRYRd  ddd| ded, dlad, Glecd, g&ca A
ShauRad-edd fafqenfa woifor afea | gug:war: aRgfca=fafiesr |
T wfacafa & wA0L, Idr & fhaed| stfAcae=r AT el gEg:@
AL oad: | Afe Tdar HIsfU guaeperata, o @i dder Hisfiy
GTH | heltd EATSATd delfad eddicd T Hhalfde g:E# Jadid
e fAld T | 3 UAlE Sidped]e:  Hifde-  “hEdcdod
EATAA G:@HPledal a | Aescguil T a2 deheiAmaer || afs
qd T A AEEIAd, SEddeee: U Tedd ? Geedldd
Wﬁr: qg?‘&l?rﬂT sTafa | H‘c?il’lﬁl?l?i?cr ATChehRUT YGehUT- '%@ &
I8 M | TelleeThR Sad Soeeieid” |

TARA 50y AfeufaTde: U safd-

, T+
ATH+IRR
T+
, TA+3TER

Correct Answer :-
| TR+



11)

9allenl gfocar srenfAafeses yeaex ﬂagdgcdé I -

3R asear sfiaa @ |
AFGFATIHINRT TEAdseddd FeA: |l

HEQY fdeleh Tehord gaT:Eere a#h——grai
AR FAGHNFAhhiclel dUT P HSHUTH |
Ha159 gRTecad T FHoldehUs T agcrd.qfa'

Mot afafedr fasad ataresET:

A: JecaH Ul o Al Aa-

Yeliehl TfSear HeNfAfesery Teeed qgecc] Yadd -

Th T GEGAl [HAUAsTITANd T |
QRRUT GH T TIHATE B ||

Hellold ARAdedds  fSdfead gigaAdr aftsed |
ddlcasl AeRYHET ARHG ROT Jued |

Sdfeaa: 3fa yery fGegaead sgARq-
1ﬁl?lﬁ3‘|7‘“ra"aﬁ?i?r€:



Toid = st =
| sfegaed Sar
, oid sfeea e &

Correct Answer :-

ﬁlﬁﬁgﬁ?ﬂlﬁ?ﬂﬂﬂ

faeafera

4

Correct Answer :-

[ERGIER]

vollehl afScar sreNfAfésesy wered Peaccl A -

3 RERETaETeT asear snivaa T |
A ATIRINeT JETdscreld Hel: |l

o N h

e foeldh STellctheldh daT-Terel hiecel

AN AdHFIehehidel dUT P HIHUTE_ |
HaTge! §RAeeA T Helechus T Hercdiel
e aR@afSedr fasad aarergsAfor: |

I sfd ueew fasifda: stafa-



eellehl gfdcar srnfAféser geaea Agdaca Faad -

Ueh Ug {j_,&r.gdﬁ ﬁrﬂ?rsw?l__,mﬁ T |
RRUT TH ATA FIHCITE IS

Hedlold ARdJedad fSdfegd gfgaAdr aisea |
dldlcAs dRYAACT ARHG 0T vuey ||

yucd 3fd deEd awr: 3fEd-

el
o=



eollenl Ufecar sreanfafeseed U2y gﬁgcdi qaIqd -

3RS avear snf¥dsT @ |
AATFATIRNL TEddsTcldld Hel: |

HEQY floleh oellcthorsh TaT:Tel hivcst

W — h Y b A
AT AGHIFAhdLde dU] P HShUE |

a9 gRAeced T FHeldehUs I d::l,crdldm

Muedr gRafed fasad aaresEfor: |
31T Mo afEfted: -




URTIC IfScal TRATT AGHH AT -

dich geored o IS FrIa: | fohser Al geel-aideh:’ | 37d: W,
HoTH: 3TcHeT: dT Goeldl 3O T 3 | THIRPESCAT ool FFfoereT:
ISl | ITETSeAT gfel Sfel goedl 3fcArr: A gRgafed | 9w q &
AT | HeA-DIMCAC-TSCAT Golel Sfel ellehl: IUET-TSCAT TRATec | goled
AT UeEd AT 3hA0T #afd | fAder ¢ Taeey e O
3ThAUT hdfed | Td T Sfigel URAA: I goeled o Hisi #afd Fed
dich | ITEAA S AACTTEAT FS3dT IRTATeAd, TF Slel: IR AT
Urelel fhad, I9cn: Slell: 9dell: dR1: T $dfed del 2T 98 3 o
AT PATA | IMEANCHPTSCAT ool FoSd  PIH-hIE-olIeT-FIg-3TEPR-
fahrr: 3MhAed| TA: AP HPEdET Faed A aiRer T
offerd: & | AT 37T & TF aeTd I: Uael: ¥ | 39 fo-

ATATCHT Tolglalel of8g:|’ 3a: MRS |, A=TEl, 3medicadl o afed

TIad|




TR=ic UfScar UedEd ﬂﬁdgcdi A -

uRadd dOREEe Fad: | qAuecARIRSHAUSH §HUSS §d d¢
HEAA T SPIIRATA IR EAfesTagd], 31fed | Aqsaeiidaaaey
fagaes saEr a7 | 3y aRedafaEey caued: usErsfERd Sias
T | Falcqd Saled gH, 37T JRIAT: TehreilstaT 7 farermar
YRR, FETd dafse:, aFgd fourar, serEl 8Y: sl I sheeaeafaRia
Sl MRadUNEdeRYRd  ddd| ded, dlad, Glecd, g&ca A
ShauRad-edd fafqenfa woifor afea | gug:war: aRgfca=fafiesr |
T wfacafa & wA0L, Idr & fhaed| stfAcae=r AT el gEg:@
AL oad: | Afe Tdar HIsfU guaeperata, o @i dder Hisfiy
GTH | heltd EATSATd delfad eddicd T Hhalfde g:E# Jadid
e fAld T | 3 UAlE Sidped]e:  Hifde-  “hEdcdod
EATAA G:@HPledal a | Aescguil T a2 deheiAmaer || afs
qd T A AEEIAd, SEddeee: U Tedd ? Geedldd
Wﬁr: qg?‘&l?rﬂT sTafa | H‘c?il’lﬁl?l?i?cr ATChehRUT YGehUT- '%@ &
I8 M | TelleeThR Sad Soeeieid” |




* “graielr ufrdg [ A aFT [awe
MELCIECEUEE
_ feel-andar

Ararfadeiets

4, -

Correct Answer :-

Correct Answer :-

A Higar 98



TR=ic UfScar UedEd ﬂﬁdgcdi A -

uRadd dOREEe Fad: | qAuecARIRSHAUSH §HUSS §d d¢
HEAA T SPIIRATA IR EAfesTagd], 31fed | Aqsaeiidaaaey
fagaes saEr a7 | 3y aRedafaEey caued: usErsfERd Sias
T | Falcqd Saled gH, 37T JRIAT: TehreilstaT 7 farermar
YRR, FETd dafse:, aFgd fourar, serEl 8Y: sl I sheeaeafaRia
Sl MRadUNEdeRYRd  ddd| ded, dlad, Glecd, g&ca A
ShauRad-edd fafqenfa woifor afea | gug:war: aRgfca=fafiesr |
T wfacafa & wA0L, Idr & fhaed| stfAcae=r AT el gEg:@
AL oad: | Afe Tdar HIsfU guaeperata, o @i dder Hisfiy
GTH | heltd EATSATd delfad eddicd T Hhalfde g:E# Jadid
e fAld T | 3 UAlE Sidped]e:  Hifde-  “hEdcdod
EATAA G:@HPledal a | Aescguil T a2 deheiAmaer || afs
qd T A AEEIAd, SEddeee: U Tedd ? Geedldd
Wﬁr: qg?‘&l?rﬂT sTafa | H‘c?il’lﬁl?l?i?cr ATChehRUT YGehUT- '%@ &
I8 M | TelleeThR Sad Soeeieid” |

Rrgr@w@a’rﬁrqwemmﬁ?

AECICErEE:
4,

Correct Answer :-






TR=ic UfScar UedEd ﬂﬁdgcdi A -

uRadd dOREEe Fad: | qAuecARIRSHAUSH §HUSS §d d¢
HEAA T SPIIRATA IR EAfesTagd], 31fed | Aqsaeiidaaaey
fagaes saEr a7 | 3y aRedafaEey caued: usErsfERd Sias
T | Falcqd Saled gH, 37T JRIAT: TehreilstaT 7 farermar
YRR, FETd dafse:, aFgd fourar, serEl 8Y: sl I sheeaeafaRia
Sl MRadUNEdeRYRd  ddd| ded, dlad, Glecd, g&ca A
ShauRad-edd fafqenfa woifor afea | gug:war: aRgfca=fafiesr |
T wfacafa & wA0L, Idr & fhaed| stfAcae=r AT el gEg:@
AL oad: | Afe Tdar HIsfU guaeperata, o @i dder Hisfiy
GTH | heltd EATSATd delfad eddicd T Hhalfde g:E# Jadid
e fAld T | 3 UAlE Sidped]e:  Hifde-  “hEdcdod
EATAA G:@HPledal a | Aescguil T a2 deheiAmaer || afs
qd T A AEEIAd, SEddeee: U Tedd ? Geedldd
Wﬁr: qg?‘&l?rﬂT sTafa | H‘c?il’lﬁl?l?i?cr ATChehRUT YGehUT- '%@ &
I8 M | TelleeThR Sad Soeeieid” |

FTACTATAT: U2 FHEIRSEAT: IHedFh:
S Tega-

, 39

SITRITT:
4.
Correct Answer :-

. Torgram:



25)

eollent afScar srafAfésery e gacdl A -

Wﬁg@@ﬁﬁaﬁswﬁazl
RRUT H TN FIHATE TS I

Hellold ARdJedad fSdfegd fgaAdr aisea |
dldTcHs ARYAAET ARTHAG ROT Yued ||

HAFATd Tdd g ATl #1afa-

| o

~ eRoT



TRTIE IfScal WA AGHN I -

LY

dich gaoed 1 IS Fgrer: | fohsar Al geel-aideh:’ | 37d: W,
HoTH: 3TcHeT: a7 Goeldl 3T T 3 | AHIRNPTSCAT golel T foereT:
Ioifed | RGESeaAT gofel Sfed Toearl JcArar: 3 aRgafed | @ q @
AT | Holl-hIRIANE-TCAT goel 5ol oflehl: SUGT-TSCAT YeAfedd | gl
AT UGoEd AT 3hA0T #afd | fAder ¢ gaeey Sered e
IMhAYT Fled | U I8 Sl GRAR: Tl Gooed o HIsTT erafcd Feel
dich | IREAA S AATTEAT F3adT IRATeAd, TT el IR
Urelel fopdd, TACAT: STeT: Gal: aRT: O #died dol 2 A 3 &2
AT AT | IMEANCHPTSCAT ool FoSd  PIH-hIE-oloT-FIg-3TEhR-
fapRr: speAed| T AP Peded FATSIET A ARIRAT T

I &fgd | AT 3T F U9 oeTd I g9e: TG | 39Fd fe-
ATATCHT delglaled ofsd:|” 3Ad: NINGT |, A, 3meafcadhl o afed
gaad|

Ty 3fd e foigm: smAfed-



vollehl afScar TafATEserT Teaed PeHccl A -

3RS dvear snfi¥d=l 7 |
AAgeAfahNed IEIdsTadd Hel: |

el fdoleh efelTethoreh daT-Terel dhiecst
AR ATANFAhITel 0T P HhUTH |
Haiga gREwes T FHeldehvd T Herdmamol
MuEA gRafsedl faerad adrersEAioT:

STaAlTFdns 379 HaTd-

| AfOTsIgRTIOTR T

, ATAIHRBIHAT

, Ragsrerretehan
, STSUSTaTehaT

Correct Answer :-

. HATUTIGRTIUTh T

) HRAR 3T FEhATHON YA

hid: 3TET AR -



30)

UR=ade Ufdcar U2l %_;agdgcdi AT -

olich gaeRed o HIsT wgraehr: | fhsd Gal gad-aTas: | 3 eNRE,
HeTH: 3McHeT: T goeldl 3UeT T 3fed | IR TSCAT goiel HEdfoera:
Iefed | IRETSCAT goel Sl TeaT a1 aRgdfed | T J &
AT | Hel-DRICAC-TSCAT Golel el olichl: IUET-TSCAT TRAfe | golel
GATS eolEd HASIET 3ThAUT #Hafd | fAdel del Gaered ey 4
3MhAYT Fdfod | Ud A Sliged UIRT: U GEored o Hisf sfafd Fec
dich | IEAA QU AMFATTEAT FooadT URATeTd, T Sed: 3T
aTelel fohad, TACAT: ST FEol: dRT: T Adfed ool o H§ 38 o2
A AT | ITEIICHPESCAT Goel HoSd  FPIH-ShIe-eleT-FHIg-3T6hR-
fahRT: 3Mheed| Td: TAAN: IHRAeded HOET AT RN o
offerar: el | 3TcAT=H 31T ¥ va aetd I gee: T | 390
ARIATCHT Solglelel o8 d:|” 37d: W |, AEL, el T afed
|

qed 3fd Terd aaETdHueAcAEd-

Correct Answer :-



Topic:- Social Science (SSC)

1) What is the SDG (Sustainable Development Goal) rank of India in 2018? / 2018 ¥ YRd ¥ TISIoH (ad [AHM T&T) ¥ FT T 82
1. 130
2. 124
3. 112

4. 148

Correct Answer :-
o 112

2) Which of the following country is in the third stage of Demographic transition model? / fafafRedd e AR TAHIFRBIS! WHHUT ATSA & FRIY TRUT
drd

1. Kenya / &ear

2. Bangladesh / diTemmeer

3. Peru / U¥

4. Canada / hetst

Correct Answer :-

e Canada / TSI

3) Which among the following is the driest desert on Earth? / FERif@a & ¥ B9 A1 il W Y@ ow IRAH 82
1. Kalahari / SPTITERY

2. Tabernas Desert / JORATT ITAEdTT
3. Atacama / 3TCThTAT

4. Gobi / st

Correct Answer :-

o Atacama / 3TCThIH

Match the inscriptions with rulers

1. Mandasor Pillar inscription | A. Chandra Gupta
2. Meharauli Pillar inscription | B. Skanda Gupta
3. Bhitari Pillar Inscription C. Pravar Sena IT
4. Chamak Copper plate D. Kumargupta I

{ aEdT & G WererE &1 Fae

1. #gER ¥a# Riae@ | A, =g aed

2. FEIET e RaeE | B, e od

3. fia waw feeE | C. val a1 1

4. THF FR T D. FARAT JUH

1. 1-A, 2-B, 3-C, 4-D
2.1-D, 2-A, 3-B, 4-C

3.1-D, 2-B, 3-A, 4-C



4.1-D, 2-C, 3-B, 4-A

Correct Answer :-

« 1-D, 2-A, 3-B, 4-C

5) FIIs stands for i Wéﬂ'sgél'lﬁ Cal U;Ufw_ %I
1. Foreign Institutional Investors / R 3@(‘\’1?!?[ seaTed

2. Foreign Income Investments / R SAHHA FodTcdc

3. Foreign Investors Income / R sﬁm ScdhH

4. Foreign Investment Index / BReT Sed¥cdc Ssad

Correct Answer :-

« Foreign Institutional Investors / IR 3’{—“&{?]?!?’[ 3:&1%1#

6) The most appropriate criterion that determines the selection of a teaching method is: / I SUYe HFES s T Rreor usfa & g &1 (uffea sar %:
1. The nature of the subject matter / ﬁrsrq-a?ﬁ & uepfa

2. The classroom environment / &I &I ATATAIOT

3. The availability of resources / TETUAT T STETAT

4. The incompetence of the teacher / fR1er Pt seman

Correct Answer :-

« The nature of the subject matter / ﬁlm:r-m—a’ T Tpia

7) The vesara style in the building of structural temples was developed by: / ¥X@=iTeA® AR & faTor # duv A @w @
fwfa #r a8 o

1. Pallavas / Ueeld

2. Chalukyas / dTe[drT

3. Guptas /
4. Mauryas / o

Correct Answer :-

« Chalukyas / dTe[rd

8) Development is a and nonstop process at all periods and stages of human life. / R AT shad & gsit gag 3 =i
# 3 At afFar

1. uniform / ThAHATA
2. important / W’qﬁ
3. general / HTHTT

4. continuous / Hdd

Correct Answer :-

« continuous / ddd

9) Students are split into small groups for a specific period of time and are made to discuss a given issue or topic. This method is known as: / ol
® Fo RAftre gay safr & AT o wEl & fFnfea B amar ¢ sk R = qeg a1 fwwr @ Rar-Reast wwr s 1 3@
LCUIT) Fgerd

1. Brainstorming / §gATeieh (SIA€IAN)



2. Buzz session / ?J}_rl?f I (I AqA)

3. Symposium / af=rat

4. Debate / dTG-fadrg

Correct Answer :-

« Buzz session / ?J]E?T I (I AqA)

10) Panini was the author of / qIOVf et & @+ &
1. Ashtadhyayi / 3TETEITY

2. Mahabhasya / HAGIHATST

3. Daskumara Charita / @AGHHAN Xd

4. Mrichhkatika / <& EEF:II\

Correct Answer :-
« Ashtadhyayi / 3TST&ITY

11) In projective techniques of personality assessment, behaviour is evaluated. / SIfFdca 3ThesT A Fad dFHaal cgagR
& HeAiFa AT T §

1. criminal / 3TOTeY
2. conscious / gad
3. overt / Uhe

4, covert / 3TYRC

Correct Answer :-

« covert / 39T

12) When was Sikkim created as a full-fledged state of Union of India? / RFFA F ARdT 79 F "{\Ui' TS &1 gt e AT ar=ar a2
1. 1985

2. 1975

3.1970

4. 1980

Correct Answer :-

o 1975

13) At which point of discussion, does social science differ from pure science? / TaT & FE ﬁg R, iAo AT ﬁ'&_]ﬁ}l’ e & e
g g

1. Degree of complexity / Sifcerdr &1 #ATET

2. Repetition and duplication / Wﬁf kiicy %Tﬁ[ﬁ

3. Validity and reliability / d4dar 3R faa=izdr

4. Exactness of measures for prediction / qdael & forw sural/#mar & Clﬁ"{l@?ﬂ

Correct Answer :-

« Exactness of measures for prediction / E@'CF%I?-T ¥ forw surgt/aAmar & aReEgd

14) Aryabhatta and Varahamihira belonged to which age? / 3Tdsree 3R aEfART fFa ga ¥ gefaa a2



1. Kusana / HuTOT
2. Harsha / %‘5‘(

3. Gupta / I[Cdd
4. Maurya / Fiat

Correct Answer :-

« Gupta / I[Cdd

15) Who among the tomar rulers established the fortified city of Lal Kot (Delhi) in 8th century? / SEﬁ A #A FH A AHE A AT Fie
(Reell) & fradg aex Y TUTg=r it 412

1. Anangpal / 3T9TaTel

2. Lakhan Pal / eT®eT UTel
3. Tejpal / dIsTaTel

4, Madan Pal / #ce UTel

Correct Answer :-

« Anangpal / 3T=l9TdTeT

16) Who was the powerful woman ruler of Kashmir from 958 to 1003 AD.? /958 & 1003 £Wdl a& AR Y afFaemel Afgar aws Fia A2
1. Kauravaki / @idehT

2. Prabhawati / GHTIAT

3.Didda / f&=T

4. Rudrama / *¢HAT

Correct Answer :-

« Didda / f&gr

17) Who coined the term Action Research? / Taele Rud (Brareas ) ersg & @ fraar &2
1. Stephen M. Corey / TEh TH. BRT

2. Bruce Cooper / s QU

3. Talcott Parsons / m?\l" BipoEz:)

4. Kets de Vries / &ed 31 Isf

Correct Answer :-

« Stephen M. Corey / TEIHhel TH. PRI

18) Who coined the word ecology (Okologie)? / aiRTeufashy (warsit) ereg &1 nfAsHR Faa Far?
1. Robert Whittaker / @€ fSgea?

2. Ernst Haeckel / Tet< gachel

3. Charles Darwin / aTed sTfda

4. Arthur Tansley / 3R et

Correct Answer :-

« Emnst Haeckel / TEE gadhel



19) Who is the author of Ashtanga samgraha (Summary of the Eight Branches of Medicine) in Gupta period? / ed Frel # rSen T WHIAE
(RfFcar $1 e am@Emit 1 IR F o@s diT §2

1. Vagbhata / qI¥HCC
2. Bhratahari / H?{Eﬁ
3. Charaka / TIIch

4. Susruta / AT

Correct Answer :-

« Vagbhata / qI7HCC

20) Who was given the title of ‘Lakh Baksha’ (donator of hundreds of thousands) in early medieval times? / IR{FNF ACTHT A 'TW TEU
(w3 goIRY &1 gran) $r 3w FEF & aE e

1. Balban / dTeTdel

2. Razia / ITSram

3. Qutub-uddin Aibak / FIGEIA Tk
4. Firoz Tughlaq / TRIST JdTelch

Correct Answer :-

« Qutub-uddin Aibak / FIgeld Vaeh

21) Between whom was the Battle of Dharmat fought? / €3{d T g et i g3 um?
1. Aurangzeb and Dara Shikoh / 3iRersig 3R gRT RIwE

2. Babur and Ibrahim Lodhi / 9TeR 3R ssfest oieh

3. Akbar and Jahangir / 3{helX IR GIF\WT

4. Akbar and Rajputs / 3ThelX 3R Tlx_ﬂ'%ﬁ

Correct Answer :-

« Aurangzeb and Dara Shikoh / 3ot 3R gRT e

22) MOOCs stands for: / TH.IAT.IT.H &1 aead §:

1. Massive Open Online Courses / #f&@ 3= 3ifcensa HRis

2. Massive Open Orientation Courses / #AfRa 3Nua iRvaes Hrs
3. Massive Online Open Courses / #fa 3feersa o PRI

4. Mobile Open Online Courses / TFI’IE!ET‘—T 3nua Sﬁ?l?l'l???-f PIRAST

Correct Answer :-

« Massive Open Online Courses / AT U 3o IS

23) amendment added a list of Fundamental Duties to the Constitution. / Ny wRUE & #iffw swdea A Hf-ﬁ Sgar
gl

1. 42/ a0ar
2,39t/ 39a7
3. 471/ a7ar
4. 4™ / aqqr

Correct Answer :-



o 420d/ 40q7

24) Erosion by solution is termed as: / fed=T g@RT 3RE=T F FgT 1T &
1. Evorsion / Siersrrdel

2. Cavitation / Tfeeras

3. Abrasion / 3medor

4. Corrosion / H&RoT

Correct Answer :-

« Abrasion / 3rgEdoT

25) Ramsar sites are the areas which are to be protected for wetlands. Which one is the first Ramsar site in India? / JH#AT T T a7 % EC
IEH@A & T AT Frar F &) 6RT F ggen THE TS FT 612

1. Loktak Lake / &fierdTeh &iver
2. Chilka Lake / et giver

3. Vembanad Kol / da1s &iet
4. Kolleru Lake / ﬁﬁ?%ﬁﬁ

Correct Answer :-

« Kolleru Lake / 1% i

26) The curriculum principle that allows necessary changes in its content and methods as per the changing needs and situations is .1 Er

ugaEH fguia ¥, St agedt smaeawanit At okt & ser sl Rvwarg sk gqufat # smavas aftader amar €
1. Principle of integration / ThIIOT HT G

2. Principle of flexibility / erdierdel &1 Rgia

3. Principle of motivation / 3IfRUROT &1 g

4. Forward looking principle / 3T @1 Rgia

Correct Answer :-

« Principle of flexibility / ordelusl &1 fargia

27) The teacher’s mental and emotional visualization of classroom activities is: / F&TT ﬁﬁm #F N i ARAS 3R sEATCAS FeqaT

.

1. Year plan / qifg Irstar

2. Lesson plan / UTS et

3. Unit plan / 375@' pIcC

4. Resource plan / TATY Jiotell
Correct Answer :-

« Lesson plan / OIS ATl

28) The committee headed by Prof. C.H. Hanumantha Rao (1984) went into the question of evolving methodology for planning. / 9t
Wow. gqAd TG F egerar arelt iATY (1984) F e & faw geufa Refia &@ &1 fgear |@fr mm

1. District Level / forell T3
2. Village Level / I &I

3. State Level / TsT T



4. Block Level / &elieh T

Correct Answer :-

« District Level / fotelr o=

29) Which Act drastically redrew the boundaries of states and territories in India, organizing them along linguistic lines. / o s aF sRa
# U=at 3 & Y ARt B FH e TF FH w3 3T aE Wt F 9 sgatyd

1. States Reorganization Act, 1956 / I1sd T+ SHfAfaH, 1956
2. States Reordering Act, 1959 / 5T J:3FHHUT fRIFaH, 1959
3. States Reordering Act, 1963 / o8 GA:3fIsh 0T HTAT4aH, 1963
4, States Redrawing Act, 1957 / o8 gA%@H iffAad, 1957

Correct Answer :-

« States Reorganization Act, 1956 / Isg Gia- iffaH, 1956

30) Which among the following is not a criterion for writing Instructional Objective? / faf@a & ¥ Far Racas 3@?'@ g & v

FIE ARG AL &2

1. Specification of the learner / Rremeft fr fafafPar

2. The nature of the school environment / faTer & AR 6 CIT%
3. The learner performance / et @1 v

4. Adequacy of instructional objectives / A&cHs 33931 fr uATdar

Correct Answer :-

« The nature of the school environment / faaTerd & ARGl & gepfa

31) Which among the following models of teaching belongs to Social Interaction Family? / e=faf@d A ¥ ayor 1 P @r gfAATT
Ao 3ra: fFar oRer @ defta &2

1. Inquiry Training Model / &dI& giIaToTg AT

2. Non-directive Teaching Model / 3ffacia fRygror gfder=
3. Advance Organizer Model / 3if3I37 3maieia ufaae

4, Partnership Learning Model / &SI 3 gfaa=

Correct Answer :-

« Partnership Learning Model / &S 31fereT gfaar=

32) Which battle was fought between Ahmad Shah Abdali and the Marathas in 17612 / 1761 & 3g#e Mg 3tegrel 3R el & i Fia-ar
& g3m am

1. Battle of Tarrain / dRT$l T g

2. Battle of Khanwa / @Tl<TdT &1 Jg

3. Battle of Buxur / SJFHT T g

4. Third Battle of Panipat / UTeilUd T Il g

Correct Answer :-

« Third Battle of Panipat / UTiiUd &7 Jiid g

33) Which Jaina Saint is credited with introducing Jainism in South India? / ST R F AT w3t AiY YT T F1 4T 7w AT d@a Fr
ST 82



1. None of the above/SCRi'rF FA P A
2. Sthulabhadra / TeIHg

3. Indrabhuti / $EIT
4. Bhadrabahu / 31?3!1'5\:

Correct Answer :-

« Bhadrabahu / QETsITg'

34) Where was the First Jain Council held by Sthulabahu? / TYFaTg ZaRT Yu# Sta7 Rwg Fgl qors 7§ o
1. Kasi / 1Y
2. Vaishali / &Il

3. Vallabhi / doetdT

4. Pataliputra / UTCeiigs

Correct Answer :-

« Pataliputra / trra—»?rga

35) How can a social science teacher infuse affective outcomes among students? / TTHISIS A aTH o™l § FHRICAS IRUMAT Fr FI
wifaa #X |Far 82

1. Keeping the students intact through lecture method / <ITEITA Ugfd & AEIH & BHET B 3fddhed @ TN
2. Adopting collaborative learning inside and outside the class room / @& & 37eX AR AR FI'I?{%?F 31T @ 3UATRR
3. Through story telling method on freedom fighters of social eminence / TSR FBAT dTel TATIAT FATADT TR HAT ATIT UG b ATCIH &

4. Through the teaching of wars and conflicts through ages / ?iTﬁ o ﬂ?ﬁ 3R Fuut & ReTr & ATCTH F

Correct Answer :-
« Adopting collaborative learning inside and outside the class room / @&l F 37X AR TR H‘I?ﬁ?-?ﬁ 31T @ 3T

36) Which Article of the Constitution states that all authorities, civil and judicial, in the territory of India shall act in aid of the Supreme Court? / gfaea &

e et & w1 T @ B aRa & vewa # weht wiftawor, aeie sk e, wafer s @ wear # FE w6
1. 141

2. 134

3. 144

4. 114

Correct Answer :-

. 144

37) Which was the political party formed under the leadership of Kanshi Ram? | iR & ﬁqa’ # @l o geeifaw ot afsa §'§ oft?
1. Communist Party of India / TR amgﬁw aréf

2. Samajwadi Party / GHTSIATET Urct

3. Rashtriya Janata Dal / UEII AT &l

4. Bahujan Samaj Party / Igoled HATS arct

Correct Answer :-

+ Bahujan Samaj Party / IgoTel HATT arét



38) NABARD stands for ./ TS T QU w9 2l

1. National Bank for Agriculture and Rural Development / ITERT EEW 3R gmefior e d6

2. National Bank for Agriculture Reconstruction Development / IE/T BT gaﬁmﬁw e d6
3. National Board of Agronomy and Rural Development / ITEI geafaea 3R gmefor e O

4. National Board of Agriculture and Rural Development / IE/T BT g T e a1

Correct Answer :-

« National Bank for Agriculture and Rural Development / JTEIRT Py 3R gmeior R da

39) stated that ‘social sciences carry a responsibility of creating a strong sense of human values, namely, freedom, trust, mutual respect, and
generating in students a critical, moral and mental energy, making them alert to the social forces that threaten these values’. / & e Sen § &

e e Aed Fea, 3T, Tadar, e, s @A Y Adqg draen dar & AR ol #t oF Agcaql, dfaw sk Al wat dar
W $ AT e 8, 37 g Aeal F @AY A sroe AT awes afFaat § v aad war dr

1. National Curriculum Framework NCF (2005) / g1 U]@'ZI?RJIS[ $I FR@T TAHTE (2005)
2. Commission on School Education / ¥el fRY&TT 31airer
3. Education Commission 1964-66 / U&TT 3MAWT 1964-66

4. The Curriculum for Ten Year School / &8 Il & ¥l & T UTGThA

Correct Answer :-

« National Curriculum Framework NCF (2005) / TEXI UTSITaT 6l FUWT TAHTE (2005)

40) is a type of unemployment wherein the workers are searching for new jobs and for a temporary period they will be unemployed. /

TH YR I RN § s Foar)y 78 ARt f gemer & @ § 3k v sy 3Efr § fv 3 R @@
1. Frictional unemployment / 37T SRISTITRY
2. Seasonal unemployment / TS IRISTIIRT

3. Structural unemployment / TRETEHD RIS

4. Disguised unemployment / T RIS

Correct Answer :-

« Frictional unemployment / 37T SRISTIR

41) is a process that involves the assembling, storage, transportation, packaging and distribution of different agricultural commodities across the
country. / e whrar ¢ e o o F Rffiee $ i avqart & watere, siswor, wRaee, dfier st Ravor e 8 8

1. Agricultural marketing / Eﬁﬁ' agure
2. Rural development / ITHTOT faera

3. Agricultural networking / ?ﬁﬁ?ﬂﬁﬂ[
4. Rural marketing / et fagoH

Correct Answer :-

« Agricultural marketing / ¥ fagore

42) Who is the present Chief Economic Advisor to the Ministry of Finance Government of India? / HRd ¥3&R & faw AT & adAT aq&y s
FAGFR FiT §?

1. Raghuram Rajan / YgRTH TS

2. Kaushik Basu / &fRrp a9

3. Krishnamurthy Subramanian / ZEEU'I?ﬂ?T gaaTgT
4. Arvind Subramanian / 3Rfde gaATIA

Correct Answer :-



o Krishnamurthy Subramanian / W gaATgA

43) Who is the present Governor of Reserve Bank of India? / AR Red dF & gdA T FieT %?
1. Urjit Patel / 351 geer

2. Duvvuri Subbarao / ﬁff E3CRINE)

3. Raghuram Rajan / TETH sl

4. Shaktikanta Das / fthepid 1

Correct Answer :-

« Shaktikanta Das / QIfthehid &TH

44) Who first adopted Micro teaching techniques? / g&#H R80T TRAIR B TIGAH FREA IFIATIT?
1. Dwight. W. Allen / 3aT3¢ 369, Teld

2. Dwight Waldo / 3d13¢ dTes!

3. Michael Brown / #ATShel sITSa

4. Stanley John / T ATl

Correct Answer :-

« Dwight. W. Allen / 3dT3¢ 369, el

45) Who is nicknamed as the ‘Milkman of India’? / '%RA & #tl Yo% & 39aH frdt fam aram 22
1. Swaminathan / TaTHIATT

2. Sambasivan / FFATTAATT

3. Verghese Kurien / aaffst 'g‘?ﬁ?]?f

4. Hiralal Chaudhari / SRTATS ey

Correct Answer :-

« Verghese Kurien / a9ffst '3‘??{717-1'

46) The concept of five year plans in India was adopted from which country? / R A gaadiy et A s@uRon FW U ¥ wwed 7 o
1. China / <1t

2. England / E‘;'Jﬁ's'

3. Soviet Union / @Y ad §9

4. USA / §gF T AN

Correct Answer :-

« Soviet Union / @faad &g

47) AMUL stands for ./ HHA (VOAgUA) F QT T @
1. Anand Milk Undertaking Limited / 3TTeie f@ew 3izxclner fafdes

2. Ahmedabad Milk Union Limited / 3Tedareng ffeed o fafdes

3. Ahmedabad Milk Undertaking Limited / 3TeHamarG Ao 3isefhr fafacs
4. Anand Milk Union Limited / 3¢ fiess gfage faftes

Correct Answer :-

« Anand Milk Union Limited / 3G e gfa4 fafiics



48) is an apex Indian governmental body created in 1964 to address governmental corruption. / Th e YR TRPRY
g § St WP YPTIR &1 g1 71 & 17 1964 F a1 7471

1. Commission Against Corruption / HETAR & @ 3T
2. Central Bureau of Investigation / g\l 3{dwoT 3T

3. Anti-Corruption Bureau / fETIR faeT s

4. Central Vigilance Commission /ﬁ@'q FhdT 3T

Correct Answer :-

« Central Vigilance Commission / g AIFAT AT

49) is the highest court for criminal cases in a district. / T® fora & smRTfYre W & f%nz T99 I AT ?-I
1. Court of the Sessions Judge / € FrATefIer Fr ATy

2. Court of the District Judge / oo =ararefier &1 =T

3. Courts of Magistrates of First Class / I 0N & HATSECE B AT

4. Courts of Magistrates of Second Class /e Aol & Hﬁ?—ﬁ? <l T

Correct Answer :-

« Court of the Sessions Judge / §F =IATATIRI FHT =TT

50) Which of the following intrinsically motivates a learner to learn? / Faff@d # § B ifirm F g ve Riendf 1 weet wu 3 M wzar 32
1. Lots of homework / 3Tl Iy

2. Rewards / QlcaTe=T

3. Easy questions / el HdTel

4. Interest in the topic / fawTr 3 ¥R

Correct Answer :-

« Interest in the topic / W= & FfRr

51) Whose birthday is celebrated as ‘International Day of Non-Violence’ by the United Nations (UN)? / '\‘I’QW?TE (gu-) g1 foras s &)

3feRTgTa srfgen feawr & & & waman o 82
1. Martin Luther King /Wﬁ:f LR b

2. Mahatma Gandhi / HgTAT TTieft

3. Jawaharlal Nehru / STaTeR aTel 6%

4. Nelson Mandela /ﬁ?ﬂ?ﬁ%?ﬂ

Correct Answer :-

« Mahatma Gandhi / TTeT e

52) The approach of organizing curriculum which is more content centered is known as: / UTédshH P ARG B BT eDHI0T, it sifwpizra:
fvg-aeg $iEa 2, 3/ Pg1 oIar gl

1. Concentric approach / Hhigd TTEHIOT
2. Topical approach / AHARI®G Ti¥dIOT
3. Unit approach / 3‘@%’ EHECI

4. Spiral approach / e gf¥eror

Correct Answer :-

« Unit approach / 1S TiRdIoT



53) Annie Besant was a member of . Fﬁﬁ'\ﬁi" @) ge At
1. Ghadar Party /TIETU'IE‘T

2. Prarthana Samaj /EITZT:HHIHTSI

3. Arya Samaj / 3 gA

4. Theosophical Society / Rriftred Tt

Correct Answer :-

« Theosophical Society / Fafthea Tragd

54) Who plays the main role of Guidance Services in School? / faemea o ArteR Aarsit & q1 Hﬁﬂﬂ P fuTar 82
1. Parent/ ATAT-TOAT

2. Social Studies Teacher / ATATTSIh ICTTA fALTH

3. Principal / g

4. Counselor / TRTHLTETAT

Correct Answer :-

« Counselor / GXAIETAT

55) “Roaring forties” are name given to wind in southern hemisphere commonly known as which of the following wind. / “fi@a =faw (R

wifEw)” iRl et & e aweh e F R = aw oot fealRa § @ B s F e @ o e §2
1. Westerlics / g3 Uaat

2. Trade Wind / =TaiRes yaa (35 fi3)

3. Easterlies / qdfg uae

4. Monsoon Wind / HIAEA e

Correct Answer :-

o Westerlies / U3 Tdel

56) Sir Thomas Stamford Raffles is known to be a founder of which of the following modern nations? / X ITHE FEADE Yhed & PArfaf@d
# ¥ 5w YT Uve T WEATF AW 14T 2

1. New Zealand / Fq\\_:ﬁﬁ%'

2. Cyprus / €189H

3. Vatican City / afera &
4. Singapore / w

Correct Answer :-

« Singapore / m

57) Cyclones or hurricanes do not develop within about 50 N and S of the equator because? / ThaTd AT qHIA, ALY T@T &F FANT 50 N st
s & iy RFRa 7@ & § F=ife

1. Ocean surface temperature is high / HHg $r TAE BT dUAT JTAF Sl &
2. Trade winds converge / ITUIR® Ude THh 3R &l &
3. Pressure gradient is weak / GTdl UdUTAT hdHSIR BT B

4. Coriolis force is very weak/?-ﬁv Y3ifora wamma E!g?f HHASR BT &l

Correct Answer :-



« Coriolis force is very weak/aﬁﬁm JHTT ag?r HHAR BT &l

58) Which of the following rivers does not flow into the Arabian Sea? J ffad & ¥ S @ 94 3RS PR & 7E1 g &2
1. Tungabhadra / §71T3=|'¢\T

2. Narmada / sT3er

3. Mandovi / #ATSdY

4. Sabarmati / TTERHAT

Correct Answer :-

« Tungabhadra / @TSET

59) The Vallarpadam Terminal, which is a container trans-shipment facility, launched in February 2011. It is a part of which among the following
ports? / BT 2011 F YHRFS FFAT IR TeaRUeH e, St Feaw diaiaror (¢iw-Rrwdie) girer 81 a8 fmafaf@a oka & @ fraer
wF foeam &2

1. Cochin Port / PN de3ame

2. Visakhapatnam Port / ﬁf?ﬂ'@m a'c'R'JTI'f-"
3. None ofabove/ICRjT-F # A P A

4. Chennai Port / JoeTS FEaNE

Correct Answer :-

« Cochin Port / PN dEI9TE

60) Dendrochronology is the scientific method of dating based on the analysis of patterns of tree-rings. In a tree from which of the following zones,
the analyzing the circles would be most easy? / &T-de1 (ff R & oot & fAeAvor & IR W qﬁ?lﬂ'@?ﬁﬁ e 71 danfaw adier 2
famafaf@a & & 5w &7 & va gar &, gadl F1 ReAYOr Fem Fa@ 3w gem

1. Temperate Zones / 2fTaTsoT Ffedy (@FRe )
2. Taiga / &30
3. Tropical Rain Forests / SS0Thfea T aul aef

4. Polar Tundra / anﬁ'q §§T
Correct Answer :-

« Temperate Zones / o pfeayr (Eeme )



